EAF2ERRAYF 2R ERAS S - 25 BEH1Y 2R THITFEFES

CKEHRE3= B4 BkLTE)

- VEEIE (FHE3A X UA)

[ kT g b s Y- - =03 58 Qx—4Ay=12 05 » T 5kt fE*—‘F*fJI r

(DB & x> (3, 0)
(B)®Aj& yaha>t (0, —4)
(OB 8% = %1
(D)) A)3E 36 o B

y
3. ¥+ W5 iMyax+tbhm |/
RIT 5fe 4 7 it 3 24 4
(0
bx+ay=2 < ®a; ? /
D y (B) y (©)
(0 X o X

4, vk a:bh = 3:4>pT ;'J’iﬁfﬁ'ﬁﬁ?
(A) 4a:3b=1:1

(B) &:b=9:16

(©) (a+b) : (a—b) = (=71

M) (a—2) @ (b—3) =1:1

5. T Pt e B AE?
(A 6/ : 22t @H3

(B) 2 : Thermwtimst 3 @ 125 gt 5]
(C) 500 =50 : 0.1 27wt EH D

(D) 0.3 : 0.7TerntEH 3 : TertEen 0.1 &

6.2 T F P K g p A F w9

() x|2|3 (12 gy x| 2| 4] 6 () x| 3|57 (py x[ /]33
y‘7‘3‘]

y‘6‘4‘1 y‘é"é"Z y‘]ﬂ‘é"b’

2. EMLWE (=4, -1)~(4, —1) eA g FHFTH LY > - gy

A (=4,1) B CO,-1) O C4,4) D (4,

—4)

mESL F?



T. AT FldTit o = bt B l'/‘fm’ﬁ Am 9
(")- &3¢ v e BF T et ARF 0T oo
(e)F 5 FRABEH T 5 omug F & F P
(POt jzern £ o
(7 )- B AchE F e Egeo
(N penigrgdd

D4 B3 O©2® D1 @

8. B F ¢ o AHRFEREZ AT E SR IRAeT

L P Sk 12 % » K& T = z B E 10 & 0 iR 6 =X
FFRd S 156 = > ki 9 = SR L 18 % 0 4t 12 =

1
1
TR— [RpirfE= A IRenfp P F i ?

W B Opk D)7 HF

S EAM(FR3A £ 634) (FREROARPBAKSEHEFES BRI PA)

1. #5:3x = 3:2%kx= °

2% 6:(x+1) = 10:(2x—1) &£ x = o
2 5a—3b—l, 12— o

3.7 7a+4b 2 E‘Jb —_—

4.4x—y=x+by* P (x+y):(x—y) “n- &3 °

5. B = 7o— =X 425V 123x+456y+T789+m=0 B ER B Blm=__ o
6.l (a, b) 5= - % AR5 y=OxtA B0 - B Rda b=
T.2- 288 (—1,—-1)& (0, —4) RERIUEF> % 1,

8. 2 wE M 2x—0oy+tm=0#&F (2 ,—-3) &- 8> knehE=__ -

9. s hry#t xHE T x=3 . y— G x=2 @ pihii=



e

10.¢ 4ox o~y &2 P x—y) ( 2x—y—2)=2:3 ik} e

Y

11.2 i ff T g +md B - X2 RN L85 ax+3y=—10 & dx+hy=4> 45 8 (2, —4)

RiEd B oo S ARNTHER LR fatbhiE=_ -
12444 T g + > - - X380 3x—2y=n ¥ 2x—y=—0 OB 3 - g 4ok A iE

'/‘:[-41}%_:‘;_1, E]IJ m= )

Jrml
A
P
k3
a;
<

13. ¢ ET G b4 - SR FE ML y=ax+b (T3 MR fF o do— EPEE S UGHE T
e (—1,—1) 2 g&- R BikEd (2, —2) ML RSt

145 %3 E M 2x+3y=0 } » ¥ &8 x $hE y phenfEHEAPp £ > F0R K iE E gk kR

15.2 drd A B DL B 2R L 6.4 202 > RERE B ieS B R L (2.8 24 o

Bt B FRIEIT e Ak ApRE I8 s A ) B TER R T Ea AL o | BEE N

'.3:
>~

16. 404 4 fo.

€3
H

17.3%- BFFLBEARP R F7RELH0 00 ¢ frd b 2 B4 L
2ok PIFEE A0 2R e EERP L S8 .

18, M EHFD ok X foxpfs 3 ¥ 2T g A+ d o pbprsdfod 4 ik ok

3525 2 5482 101 53 354 4 T AR A B o BB R Lz b A fod 4 a4 gen
21:30 Bl a4 % fozk g 94 -

19. - #BHF 5 1 #RE B b — AcBliv- BATmE RIS o BRS CUREER | e v LR
dod o - B AL (Ea 4 AR e F o AL TR & PP g S A o o T 10 R
S ARlITR R 2 PP RS FRAS AL RIAL e -



20. ER B Fw i B (AE86) » M ERA M 80 0 s FABE SRR L 7R 300 D2 2

“G-b-

N FAR e R S 20 22 o R M BEATERG 0 AR SE R AR DR

8 200 2L 15 Bl P I SN

D1, fhk fFehe & A0 4 FiE = kAR - 2 2 kA it%*fkéiﬂﬁf%i*%ffﬂ BB SR AL T
B2 P HESE S A PR AR B R
xRk R ok i -

= EEAT (2 134)

.2 ~- 3258 2x—py=3 LT RGBS S ER Lo 2 Ao 3 AN x+y=3 ki
T PR EA 5 B ML
(1) 2% A% L% Leen gt A Bk o (2 4)

(2) fKdLi~LeswE xphaeg B-Cxfl* A~B~C=83F I Li~ Lot A5 - (5 &)

y
A

o

Do

2. - BAFHES kY 10 F 2 SRR Ko S kRS 1000 F 2 - R
Zg K e
(1)2500 % = ch— Spfff il v k¥ AFFfREY kgrg-keamt £.5 5 2(34)
(D AHFES KEALTE0F A « FRFAMRFRF L 25515 0 5 5 24 oh- SRR
BoR O RELITRE YA > Y 2Ry BITHFEL A Y I FHE BIAFRES L?7G A)

»
™

th—

AF /R AT RAEER



4 2 mema

PEIN2EER S - -

EBHTE Y 2T

O%3* 24 BokEEE) —E&E I Bt :
- CERM (FH3A 0 E2UA)
1 2 3 4 ) 6 7
SNEAI I (FHR3AE63A) (FRYTNEEGARSEFEEEY » FRF A L)
1 2 3 4 d 6 7
8 9 10 11 12 13 14
15 16 17 18 19 20 21

S EAE (2 134)

Bk

=

(2) f&hLi~Lea

A~B~Cz=2% I L1~ Lecnm@a;s o

TG ot R e

L X b 2L B C 3 A

- AR 2x—y=3
B 22MLi - ~- 34N x+y=3 i
Ta PR, s A Lo o
(D AZ: L2 Leeh g RAZHEHE - | (D)
(2 ~)

(5 4)

(2) % f-42i2

C AR g ke flIE Y 10 2 R R
vk e kAR A 1000 an- BRI
5 ok e

2500 F = eh- ARG kP AR K
gkt 250 2 (34)

BoREFLTH0 L ~ F A AR ER

~ FEA eAE IR X ;"lzgff 5 o= - Jinﬁ;ﬁ&;g_

LEITRFi A o B 2R 4851

RN L
LR e 3R SRR kD
(3 4)




EADreeEA? B2 ERS - S - FaBE Y 2 =R E

ks 3.4

Lok EE)

- CERE (F43A £ 2UN)
1 2 3 5 6 ! 5

S BRI (B3R £ 630) (FRERTAABARSRPESFES R PA)
1 2 3 1 g 6 !
o g o | 3 | -789 -8 | -
8 9 10 I 12 3 &

_1 4 (11D

19 9 2 2 [ 302 (5,5
15 16 17 18 19 20 21
3 410 10 33 2 A() 23

S ER (2 134)

l.= o= X3 AR5 2x—y=3 ik

Bl 2L =

L — =X > 7?3}\‘ X+y—
T L shg AR S 2 s Le o

TT o iR | 2.
l——:. *%1‘

- ARG KRl LY 10 F 2 A g

Bk o 4R AR S 1000 F 2 e ix

B ok o
(1)2500 % 2 in- 482

it

§ kP AFFEIEY K

(1) =&

(2)1\2‘
A~

el .

(1)

AEEL L1 2 Lo 8o A Bheni 4

2)

Lo A o] x%m¢% B~ C a4l

Cz ¢ % ~ L2 0@ A; o (5 &)
~Co

Li~Le & - &)

(2-1)

L2

gfkant 250 23 A)

() AFf#igs kx5g 750 2~ § 2
PR A K TR X Amg o 5 0 -
BEo K RELTIRSENE > B 2R
T A8 FifEd wE % 3
6k ?234)

]"a “u (i

=z N

FETFERE ST

A

(1) 1:99

(2)16 #g




